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Activity book



Did you find all Did you find all 
7 differences?7 differences?

Could you solve the Could you solve the 
sudokus?sudokus?



This were the This were the 
matching pictures!matching pictures!

Did you find all Did you find all 
6 differences?6 differences?



Did you answer all the Did you answer all the 
questions correctly?questions correctly?

In order for a horse to be able to pull a carriage, it 
needs...

    B. a harness

From what age are you allowed to ride a horse?

    B. 3 years

Another word for a 1 year old horse is....

    A. Yearling

How many penalty points do you get if you hit 
an obstacle during a jumping course and it falls 
down?

    A. 4

Did you help Ari?Did you help Ari?




